Subject: Re: Does this make sense? (scalar objects)
Posted by marc schellens[1] on Fri, 05 Dec 2003 09:58:05 GMT

View Forum Message <> Reply to Message

> | cannot guess any example about which (IDL) code would be broken,
> if single element vectors and scalars would be treated the same.

> Do you have an example?

> Or did you mean binary code linked to IDL?

Sorry, please forget. | read your reply not careful enough.

As you were talkin gabout the abolishment of scalar type,

of course you are right.

Nevertheless, apart from indexing there should not be any

difference in behaviour.
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